Total Marks: 60 Class:9th Time:1.45min

Subject:Math(Subjective)
2-Attempt any six Short Questions

"I Cc=[t -1 2] then find 3C 3¢y ey c= 1 2

2 1 2 3 -1 0 0 1 2 3 -1 0 0
A=|2 3 1 C=10 -2 3 A=|2 3 1 C= -2 3
1 -1 0 1 1 2 1 -1 0 1 1. 2

Prove that A+C=C+A A+C=CH+A _ St

® Evaluate x and y if x + iy + 1=4-3; Xx+tiy+1=4- 31‘/;1-.%’)/(}‘"&4":6/3()51)(
* Simplify (2-34) (3 - 2i) and write your - /A S La+bid 2-3)(3-2 1)

answer in the form of a + bi
> Write the following into sum or difference. _ufg J:Jﬁ JJ/&L:“"L(QJ/@[J. Sos ke
log (A % B) log (A x B)

6 Uneene bl sond £ od St

What replacement for the unknown in

each of following will make the e
statement true? log; 81 =L log, 81 =L -
" Perform the indicated operation and simplifys, -u_[//"y&ﬁf.f |-’-§ JJI?_(H_“_:
1+2x 1-2x Y 1+2x 1-2x
1-2x 1+2x 1-2x 14+2x
8 Evaluate: JAppred

o

x v - 7 wviwr o

I

a)?forx:—l,yz—‘)ﬂz:él a) - forx=-1,y=-9,z=4
® Factorize X - 1142 X - 1x-42 ~L£),L5f.:
3-Attempt any six short.Questions
' Find the H.C'F-of the following expressions. _ér)‘" (‘yf}b(u}‘fd: Sou A
39x7y32 and 91)(55/627 39x7y32 and 91 xsyéz7
* Solve cach equation and check for JU P4 Jm&u’"”[ U.:/ JP’J/ =l J:’. e
extraneous solution, if any. s
2/t+4=5 2/t+4=5
33x-10<5<x+3 Solve 3x-10<5<x+3 JUASf
4 What is the difference between abscissaand ordinate? Q‘LJX l:ru'-‘.' ..‘:a‘&.jff:ul (ot
’ Draw graph of the equation: y = 3x y = 3x —U:ft’--—;’/f
® Define right angled triangle. - A - /.’.u( w:r’.’lj 24
” Write the distance formula and mid-point formula: -/ /'; /;IJJ"'J bs L},l;‘;wf U Lol
® Find the unknown x in triangle ABC. ..u'g Wﬁ‘d/ Xr:L"' tUXABC &L
—~—B _.-\<-\;\%d| 4{}5—/— B

® One angle of a parallelogram is 13(P JLLJ’?ﬂb/’l 300 s LIK T e S5 L
Find the other angles. - /T’:L"’ 2 L, Uyl

4-Attempt any six short Questions

. o 0 0, .
" If two angles of a triangle are 90° and 60° then &*Vé&— = ¥U*90 4160 é',p”éw
what will be the value of 3rd angle. el



2 If any angles of a triangle are unequal in

measure, how will be the lengths of their
opposite side?

® If a line segment intesects the two sides  J&es(§ .p[ s .:,L‘ﬁu/ 152550111

of a triangle in the same ratio, what will
be its relation to third side?

* Define proportion.

5
Find the value of x: A

o

® Define obtuse triangle.
" Define area of a parallelogram:

® Define Centrioid of triangle.
9 Cﬁtmct a triaEIe ABC:

L STussieiin sml el 2

sdund LA S L

Vé_t.’wgy y/c_bu > /:.:u?;)/ C}J

IS IS
L] et

SIS
BUSS P AS RS
eI
U BABCEL: °

mAB=5.3cm,mBC=4.5cm and mCA=5.6cm mAB=5.3cm,mBC=4.5cm, mCA=5.6cm

Attempt any three questions.Question no. 5 is compulsory

1 (@ Solve by Crammer rule.
@ y 2x+y=3

6x+5y=1
®) Solve the following equations for real x,aad y.
(3-21)(x+y1)=2(x-2yi)+2i-1

2@ Use log tables to find the valoe 6€
0.8176 x 13.64

b . . y .
® Perform the indicated eperation and simplify.
4x-12 QLIS 2x
X9 (et +6x+9

a . 3 3 2 2
> @ Factorize X Sy}- 6xy + 12xy

° To make the exlzg)ression
X - 10X+ 33x7 - 42x + 20 perfect square,
(1) what should be added to it?
(1) what should be subtracted from it?
(iii) what should be the value of x?

4 @ Qolve

3x-1 2%

3 x-1

=X, XF1

]

v Construct triangle ABC. Draw the

bisector of their angles and verify their concurrency

mCA=5.2cm, mAB=4.5¢cm, mBC=3.1cm

> Prove that the right bisectors of the sides ﬁﬂﬂtdjfé &l oi?‘u/ Sl é;rt'

of a triangle are concurrent.

2x+y=3
6x+5y=1

~L£/J’ufymx/_~.,updj?,ﬂ (b)
(3-2i)(x+yi)=2(x-2yi)+2i-1
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-l_,:,fnl’”;'.«gd/dj,?zﬂ.:—u Jduyfgjgﬂ @2

0.8176 x 13.64

L SIS L
dx-12 18- Pl
¥ -9 X +6x+9

X - Sys— 6x2y + leyz_L):/df' @3

xt - 1053+ 333 - 42x + 2042841 ©
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3x-1 2x < F 1

3 x -1
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AL A
mCA=5.2cm, mAB=4.5¢cm, mBC=3.1cm

=X
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" Prove that triangles on the same base and s/ U C’b/sﬁl?(ﬁ.gﬁ J.‘..j? Lf.ff é ok
of the same (i.c. equal) altitudes are equal in area. -60 Ul e vl aE I )
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